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| |BAsER 99.008| 0.028 83.000 16.008| | (A) [BE2HRE([(a)+(b)] 3,488.996
2 |BAX#HOE 50.000] o0.014 44.000 6.000 () EEZ DB ERE 2,015.999
3 |EFRBES 21.000 0.006 1 2.000 9.000 (0% BERHE (BERRO oEenk | |1,472.997
4 |BERREFE 67.000| o0.019 43.000 24.000| | (B) |pAn 0BV TLER 0.004
5 |[NMERER 871.346| 0.250 589.35| 281.995 ©) WINDBR%E- L8
6 |BE¥ 247.000]  0.071 213.000 34.000 EEHEZICODELRVER 1.000
7 |[ERRER 239.674]  0.069 214.648 25.026| | (D) |ATEEH([(A)+(B)+(C)] 3,490.000
8 |F—L&sn 39.000] o.011 30.000 9.000| | (B) [E31x2% 138.000
9 |BAWESR 9.000| 0.003 4.000 5.000| | (F) |#%Z#%[(D)+(E)] 3,628.000
10 [HERER 68.000[ o0.019 37.000 31.000 Frio 21 0.000
|1 [ #7iR4A 187.000| 0.054 1 77.000 10.000| | (G) [F*ZE=ED [HFLIFEY 0.000
12 |BARKER 1.000| 0.000 1.000 0.000 MR Z Dt 0.000
13 |[BBRER 1,334.995 0.383 445.000 889.995| | (H) [ EHME(F+G=I) 3,628.000
|4 | BEDE | 1.000| 0.003 10.000 1.000 (D | BREEBREELR) 3,628.000
15 | ABR% 219.973]  0.063 100.000 119.973
16 [NHK# 24.000  0.007 13.000 | 1.000
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